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previous  is the actual net 

allowable revenue of the previous 

assessment period
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Pass-through balance  358 

ePTB  280 

67th percentile estimate of post-tax 

WACC
4.23%

Pass-through balance allowance (85)

(ePTB - pass-through 

balance) x 

(67th percentile estimate 

of post-tax WACC)^2

Pass-through balance for 

the assessment period 

ending 31 March 2020

An estimate of the pass-

through balance as at 31 

March 2020



 



 

  



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 



 

 



 

 



 

 

 



 

 

 



 

 

 



 

 

 



 

 

 



 

 

 

 



 

 

 

 

 



 

 

 

 



 



 

 



 

 

 

 

 



 

 

 
















